ZR <£1.069
gini = 0.57
samples = 49635
value = [27577, 5795, 16263]

class = A
Tru’e/ False
ZF <-0.671
gini=0.5

samples = 41489
value = [27577, 5795, 8117]

class = A
ZR <0.044
gini = 0.536
samples = 37232
value = [23320, 5795, 8117]
class = A
ZL <-1.097 ZF <-0.529
gini = 0.486 gini = 0.589
samples = 29998 samples = 7234
value = [20402, 4998, 4598] value =[2918, 797, 3519]
class = A class=C
' \
ZF < -0 388 ZR <0.452 ZR <0.578
gini = 0.517 gini=0.48 gini = 0.598
samples = 26377 samples = 2549 samples = 4685
value = [17111, 4860, 4406] value = [1532, 0, 1017] value = [1386, 797, 2502]
class = A class = A class =C
gini = 0.394 gini = 0.544 gini = 0.405 gini=0.5 gini = 0.634
samples = 6382 samples = 19995 samples = 1214 samples = 1335 samples = 3114

value = [4796, 325, 1261] value = [12315, 4535, 3145] value =[871, 0, 343] value = [661, 0, 674] value = [1169, 589, 1356]
class = A class = A class = A class =C class =C




